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Answer ALL quéstinna

PART A — (10 x 2 = 20 narks)
Mention any two advantages of non-couve. tional energy sources,
Define co-efficient of performance wit’( raspect to wind mill,
What is meant by load curve?
Why is electrical energy conservavisn important?
Define solid angle.
Distinguisl.x‘hetween direct ebnag and indirect lighting.
With respect to tractivn sy<i>ms, explain the term 'free running’.
What is the voltage le =l "1sed in traction distribution network?”
Write the applicetains of DC shunt motor.
Na_me two typos #€ loads, mlate;l to electrical drives.

PART B — (5 x 16 = 80 xgarks)

(a) Explaimn wath a neat sketch, the principle of MHD power generation. (16)

Or
M) wgive the working of wind electric generating plant. Discuss the
operational problems associated with this plant. e (1)
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Explain how energy conservation is carried out for a HT industry.  (16)

Or
4 (i) Discuss the vaﬁous methods for power factor improvement. (10)
(i) Write a brief note on power quality. (6)
Draw a neat sketch of AJAX-WYATT induction furnace and explain its
working. (16)
Or

A 27 kW, three phase 400V resistance oven iz to employ nickel-chrome
strip 0.25 mm thick for the three star connected heating elements, If the
temperature of the strip is to he 1000° C and that of charge to be 600° C,
estimate suitable width for the strip. Assume emissivity = 0.9 and
radiating efficiency to be 0.5 and resistivity of the ~‘rip material ia
101.6 x 10 ghm-metre. (16)

()  What are the reguirements of an ideal traction s, stems? . @

(i1) An electric train has an average speed of 42 kmph on a level track

between stops 1400 m apart. It is acce’era sd at 1.7 kmphps and is
braked at 3.3 kmphps. Draw the speed tioc curve for the run.  (8)

Or

(i) - What is specific energy consrur\tion? Enumerate the factors which
affect the specific energy constompiion of trains operating at a given
scheduled speed. . ()]

(ii) The peripheral speed ol vauway traction motor can not be allowed
to exceed 42m/s. If the \ »ar ratio is 16/64, motor armature diameter
40em and wheel dian.+ar 88cm, calculate the limiting value of the

train speed. 8
Discuss in detail t: = classification of electrical drives. (16)
Or

(1) State 'te *aportant fact&‘s.on which the selection of electrical
drive. dey.ands. )

(ii) Dvaw and explain different electrical and mechanical
“haracteriatics of various DC motors. 8
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